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TILAK MAHARASHTRA VIDYAPEETH, PUNE 

BACHELOR OF COMMERCE (B.COM)  

EXAMINATION: MAY- 2024 

 FIRST SEMESTER 

Subject: Business Economics (Micro) (BCOM23-102) 

Date: 10/05/2024 Total marks:  60      Time: 2.00 pm to 4.30 pm 

 Instructions:  1) Attempt all Questions  

  2) Figures to the right indicate full marks  

  

Q. 1) Answer the multiple Choice questions. (Any 10) (10) 

      1. …………  has its origin to classical economics.  

 a) Business b) Accounting  

 c) Marketing d) None of the given  

      2. …………….. economics deals with the problem of resource allocation as between the 

production of different goods & services, determination of the price factor of production. 
 

 a) Micro b) Macro  

 c) Business d) None of the given  

      3. ……………… means the technique of resource allocation in society by the signals of 

demand & supply. 
 

 a) Market Mechanism b) Fashion Mechanism  

 c) Mechanism d) None of the given  

      4. When price of a commodity increases, it’s demand …………….  

 a) Declines b) Increases  

 c) Constant d) None of the given  

      5. Increased volume of production results in to decline in the cost of production, this is called 

as …………… 
 

 a) Economies of Large Scale b) Elasticity  

 c) Diseconomies of Large Scale d) None of the given  

      6. ……………. is intimately related to the production process & cost of production.  

 a) Supply b) Consumption  

 c) Demand d) None of the given  

      7. The two most important branches of economics are ..................  

 a) Micro and Macro b) Demand and Supply  

 c) Commodity and labour Market d) None of these  

      8. ……………… means creating of utilities.     

 a) Demand b) Satisfaction  

 c) Production d) None of these  
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      9. The demand for …………….. is more elastic  

 a) durable goods b) Branded goods  

 c) Luxury goods d) Necessary goods  

    10. ……………. Cost is the addition made to the total cost by the production of one more unit 

of output. 
 

 a) Marginal  b) Average  

 c) Extra d) None of the given  

    11. ……………. Cost do not vary with changes in output.  

 a) Fixed b) Indirect  

 c) Variable d) None of the given  

    12. Depreciation of fixed assets is an example of ……………. Cost.  

 a) Fixed b) Average  

 c) Variable d) None of the given  

    13. ……………….. period market has a time span of one year or few years.  

 a) Sort b) Mid  

 c) Long d) None of the given  

   

Q. 2) Write Short Note (Any 3)  (15) 

1. Market Mechanism  

2. Diseconomies of scale  

3. Price Discrimination  

4. Quasi Rent  

5. Fixed & Variable Cost  

   

Q. 3) Answer the following question in 150 words. (any 2) (20) 

1. Difference between Micro Economics and Macro Economics  

2. What do you mean by demand for a commodity?  

3. Difference between Average Cost & Marginal Cost  

4. Elaborate any four problems faced by economy.  

   

Q. 4) Answer the following question in 300 words. (any one) (15) 

1. State & explain the usefulness of Micro Economics  

2. Explain the three phases in the operation of the law of variable proportion.  

3. Explain the Recardian Theory of Rent  
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_amR>r  ê$nm§Va 
 gyMZm :  1) gd© àý A{Zdm ©̀ 

 2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.    
  

à. 1 Imbrb àíZm§Mo ¶mo½¶ n¶m©¶ {ZdS>m. (H$moUVohr 10)   (10) 
1.  ……………… हे शा�ीय अथ
शा�ाचे मूळ आहे.  

 अ) �वसाय ब) लेखा   

 क) िवपणन ड) िदलेले काहीही नाही  

2.  2 ) ……………….. अथ
शा� िविवध व ू आिण सेवांचे उ#ादन, उ#ादना$ा िकंमत घटकाचे 
िनधा
रण यामधील संसाधन वाटपा$ा सम)ेशी संबंिधत आहे. 

 

 A)  सू* ~) सम+  

 H$) �वसाय S>) िदलेले काहीही नाही  

3.  ……………… ,णजे मागणी आिण पुरव0ा$ा संकेतां1ारे समाजातील संसाधनांचे वाटप कर2ाचे तं3.  

 अ) बाजार अथ
�व4था b) फॅशन अथ��यव�था  

 क) यं3णा ड) िदलेले काहीही नाही  

4.  जे7ा एखा9ा व ूची िकंमत वाढते ते7ा ती मागणी असते ………………. 

 अ) घट ब) वाढते  

 क) ;4थरांक ड) िदलेले कोणतेही नाही  

5.  उ#ादना$ा वाढीव =माणामुळे उ#ादन खचा
त घट होते, याला …………… ,णतात.  

 अ) मो0ा =माणातील अथ
�व4था ब) लविचकता  

 क) मो0ा =माणातील अ�व4था ड) िदलेले काहीही नाही  

6.  ……………. उ#ादन =ि>या आिण उ#ादन खचा
शी घिन?पणे संबंिधत आहे.  

 अ) पुरवठा ब) उपभोग  

 क) मागणी ड) िदलेले काहीही नाही  

7.  अथ
शा�ा$ा दोन महBा$ा शाखा आहेत ..................  

 अ) सू* आिण सम+ ब) मागणी आिण पुरवठा   

 क) कमोिडटी आिण लेबर माकC ट ड) यापैकी नाही  

8.  ……………… ,णजे उपयुEता तयार करणे.  

 अ) मागणी ब) समाधान  

 क) उ#ादन ड) यापैकी काहीही नाही  

9.  ……………… ची मागणी अिधक लविचक आहे.  

 अ) िटकाऊ व ू ब) Hँडेड व ू  

 क) चैनी$ा व ू d) आवJक व ू  

10.  उ
पादनाचा  एक  अ�धकचा  एकक  �नमा�ण  के�याने  एकूण  खचा�त   झालेल� वाढ �हणजे …….   खच�  

 अ) सीमांत ब) सरासरी  

 क) अितKरE ड) िदलेले काहीही नाही  

11.  ……………. उ#ादन मधील बदलांसह िकंमत बदलत नाही.  

 अ) िनिLत ब) अ=MN  

 क) 7ेKरएबल ड) िदलेले कोणतेही नाही  

12.  ;4थर मालमOेचे अवमूPन हे ……………… खच
 चे उदाहरण आहे.  

 अ) िनिLत  ब) सरासरी  

 क) अिनिLत ड) िदलेले कोणतेही नाही  
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13.  ……………….. कालावधी बाजाराचा कालावधी एक वष
 िकंवा काही वषाRचा असतो.  

 अ) लहIन  ब) मT  

 क) लांब ड) िदलेले काहीही नाही  

   

à. 2) Q>r>nm {bhm. (H$moUVohr 3) (15) 

1. बाजार यं3णा  

2. %माणा&या बचतीचे तोटे    

3. िकंमत भेदभाव  

4. आभास खंड  

5. िनिLत आिण पKरवत
नीय खच
  

   

à. 3) Imbrbn¡H$s H$moUË`mhr XmoZ àíZmMo CÎma 150 eãXm§V {bhm.  (20) 
1. सू* अथ
शा� आिण सम+ अथ
शा� फरक  

2. व ूची मागणी ,णजे काय?  

3. सरासरी खच
 आिण िकरकोळ खच
 यातील फरक  

4. अथ
�व4थेला भेडसावणाUया कोणMाही चार सम)ा VW करा.  

   

à. 4) Imbrbn¡H$s H$moUË`mhr EH$m àíZmMo CÎmao 300 eãXm§V {bhm.  (15) 

1. सू* अथ
शा�ाची उपयुEता सांगा आिण VW करा  

2. बदल
या घटक %माणा&या �नयमानुसार तीन टXे VW करा.  

3. 3रकाड4चा खंड 5स6धांत VW करा  

 

---------- 


